TWMS J. App. Eng. Math. V.10, N.2, 2020, pp. 428-433  $\,$ 

# **ON TWO IDENTITIES FOR I-FUNCTION**

VILMA D'SOUZA<sup>1</sup>, SHANTHA KUMARI K.<sup>2</sup>, §

ABSTRACT. In this research note, two interesting identities involving I-function of one variable introduced by Rathie have been derived. These results enable us to split a particular I-function into the sum of four I-functions. A few new as well as known special cases of our main results have been obtained.

Keywords: I-function, Mellin-Barnes integral.

AMS Subject Classification: 33C60

# 1. INTRODUCTION

The I-function introduced by A.K.Rathie[3] is defined and represented by the following Mellin Barnes type contour integral:

$$I_{p,q}^{m,n}(z) \equiv I_{p,q}^{m,n} \left[ \begin{array}{c} z \\ = \frac{1}{2\pi i} \int_{\mathcal{L}} \theta(s) z^{s} ds \end{array} \right] \left[ \begin{array}{c} (a_{1}, e_{1}, A_{1}), \dots, (a_{p}, e_{p}, A_{p})) \\ (b_{1}, f_{1}, B_{1}), \dots, (b_{q}, f_{q}, B_{q}) \end{array} \right]$$
(1)

where

$$\theta(s) = \frac{\prod_{j=1}^{m} \Gamma^{B_j} \left( b_j - f_j s \right) \prod_{j=1}^{n} \Gamma^{A_j} \left( 1 - a_j + e_j s \right)}{\prod_{j=m+1}^{q} \Gamma^{B_j} \left( 1 - b_j + f_j s \right) \prod_{j=n+1}^{p} \Gamma^{A_j} \left( a_j - e_j s \right)}$$
(2)

Also

- (i)  $i = \sqrt{-1};$
- (ii)  $z \neq 0$ ;
- (iii) m, n, p, q are integers satisfying  $0 \le m \le q, 0 \le n \le p$ ;
- (iv)  $\mathcal{L}$  is a suitable contour in the complex plane;
- (v) an empty product is to be interpreted as unity;
- (vi)  $e_j, j = 1, ..., p; f_j, j = 1, ..., q; A_j, j = 1, ..., p;$  and  $B_j, j = 1, ..., q$  are positive numbers;

<sup>&</sup>lt;sup>1</sup> Yenepoya Institute of Technology, Department of Mathematics, Mijar, Moodbidri- 574225, Karnataka, India.

e-mail: dsouzavilma12@gmail.com; ORCID: https://orcid.org/0000-0001-7889-7557.

<sup>&</sup>lt;sup>2</sup> A J Institute of Engineering and Technology, Department of Mathematics, Mangaluru-575006, Karnataka, India,

e-mail: shanthakk99@gmail.com; ORCID: https://orcid.org/0000-0002-2153-0524.

<sup>§</sup> Manuscript received: August 23, 2018; accepted: October 2, 2018.

TWMS Journal of Applied and Engineering Mathematics, Vol.10, No.2 © Işık University, Department of Mathematics, 2020; all rights reserved.

- (vii)  $a_j$ , j = 1, ..., p and  $b_j$ , j = 1, ..., q are complex numbers such that no singularity of  $\Gamma^{B_j}(b_j - f_j s)$ , j = 1, ..., m, coincides with any singularity of  $\Gamma^{A_j}(1 - a_j + e_j s)$ , j = 1, ..., n. In general these singularities are not poles.
- (viii) The contour  $\mathcal{L}$  goes from  $\sigma i\infty$  to  $\sigma + i\infty$  ( $\sigma$  real) so that all the singularities of  $\Gamma^{B_j}(b_j f_j s)$ ,  $j = 1, \ldots, m$ , lie to the right of  $\mathcal{L}$ , and all the singularities of  $\Gamma^{A_j}(1 a_j + e_j s)$ ,  $j = 1, \ldots, n$ , lie to the left of  $\mathcal{L}$ .

In short, (1) will be denoted by

$$\mathbf{I}_{\mathbf{p},\mathbf{q}}^{\mathbf{m},\mathbf{n}}\left[\begin{array}{c|c}z & 1(a_j,e_j,A_j)_p\\ 1(b_j,f_j,B_j)_q\end{array}\right]$$

The function defined by (1) is convergent if

$$\Delta > 0, \quad |arg(z)| < \frac{1}{2}\Delta\pi, \tag{3}$$

where

$$\Delta = \sum_{j=1}^{m} B_j f_j - \sum_{j=m+1}^{q} B_j f_j + \sum_{j=1}^{n} A_j e_j - \sum_{j=n+1}^{p} A_j e_j.$$
(4)

When  $A_1 = A_2 = \cdots = A_p = 1 = B_1 = B_2 = \cdots = B_q$ , (1) reduces to the H-function introduced by Fox[2] and studied by Braaksma[1].

# 2. Main Results

The identities for the I-function to be established in this note are the following.

# Result 1.

$$(2\pi i) \operatorname{I}_{p+2, q+2}^{m+1, n+1} \left[ z \left| \begin{array}{c} (\beta, \delta, 1), \ _{1}(a_{j}, e_{j}, A_{j})_{p}, (\alpha, \lambda, 1) \\ (\beta, \delta, 1), \ _{1}(b_{j}, f_{j}, B_{j})_{q}, (\alpha, \lambda, 1) \end{array} \right]$$

$$= e^{i\pi(\alpha+\beta)} \operatorname{I}_{p+1, q+1}^{m+1, n+1} \left[ ze^{-i\pi(\lambda+\delta)} \left| \begin{array}{c} (2\beta, 2\delta, 1), \ _{1}(a_{j}, e_{j}, A_{j})_{p} \\ (2\beta, 2\delta, 1), \ _{1}(b_{j}, f_{j}, B_{j})_{q} \end{array} \right]$$

$$+ e^{i\pi(\alpha-\beta)} \operatorname{I}_{p+1, q+1}^{m+1, n+1} \left[ ze^{-i\pi(\lambda-\delta)} \left| \begin{array}{c} (2\beta, 2\delta, 1), \ _{1}(a_{j}, e_{j}, A_{j})_{p} \\ (2\beta, 2\delta, 1), \ _{1}(b_{j}, f_{j}, B_{j})_{q} \end{array} \right]$$

$$- e^{-i\pi(\alpha-\beta)} \operatorname{I}_{p+1, q+1}^{m+1, n+1} \left[ ze^{i\pi(\lambda-\delta)} \left| \begin{array}{c} (2\beta, 2\delta, 1), \ _{1}(a_{j}, e_{j}, A_{j})_{p} \\ (2\beta, 2\delta, 1), \ _{1}(b_{j}, f_{j}, B_{j})_{q} \end{array} \right]$$

$$- e^{-i\pi(\alpha+\beta)} \operatorname{I}_{p+1, q+1}^{m+1, n+1} \left[ ze^{i\pi(\lambda+\delta)} \left| \begin{array}{c} (2\beta, 2\delta, 1), \ _{1}(a_{j}, e_{j}, A_{j})_{p} \\ (2\beta, 2\delta, 1), \ _{1}(b_{j}, f_{j}, B_{j})_{q} \end{array} \right]$$

$$(5)$$

*Proof.* In order to establish the identity (5), we proceed as follows. Denoting the left-hand of (5) by S, expressing the I-function with the help of its definition we have,

$$S = (2\pi i) \frac{1}{2\pi i} \int_{L} \theta(s) z^{s} \frac{\Gamma(\beta - \delta s) \Gamma(1 - \beta + \delta s)}{\Gamma(\alpha - \lambda s) \Gamma(1 - \alpha + \lambda s)} ds$$
(6)

where  $\theta(s)$  is given by (2). Using the result

$$\Gamma(\beta - \delta s) \Gamma(1 - \beta + \delta s) = 2\pi \frac{\Gamma(2\beta - 2\delta s) \Gamma(1 - 2\beta + 2\delta s)}{\Gamma(\frac{1}{2} + \beta - \delta s) \Gamma(\frac{1}{2} - \beta + \delta s)}$$
(7)

(6) can be written as

$$S = \int_{L} \theta(s) \, z^{s} \, \frac{\Gamma(2\beta - 2\delta s) \, \Gamma(1 - 2\beta + 2\delta s) \, \Gamma(\frac{1}{2} + \alpha - \lambda s) \, \Gamma(\frac{1}{2} - \alpha + \lambda s)}{\Gamma(\frac{1}{2} + \beta - \delta s) \, \Gamma(\frac{1}{2} - \beta - \delta s) \, \Gamma(2\alpha - 2\lambda s) \, \Gamma(1 - 2\alpha + 2\lambda s)} \, ds \tag{8}$$

Using the results

$$\cos\pi z = \frac{\pi}{\Gamma\left(\frac{1}{2} - z\right) \Gamma\left(\frac{1}{2} + z\right)} = \frac{e^{i\pi z} + e^{-i\pi z}}{2} \tag{9}$$

and

$$\sin\pi z = \frac{\pi}{\Gamma(z)\Gamma(1-z)} = \frac{e^{i\pi z} - e^{-i\pi z}}{2i} \tag{10}$$

and after some algebra, we have

$$S = \frac{1}{2\pi i} \int_{L} \theta(s) z^{s} \Gamma(2\beta - 2\delta s) \Gamma(1 - 2\beta + 2\delta s)$$

$$\cdot \left(e^{i\pi(\alpha - \lambda s)} - e^{-i\pi(\alpha - \lambda s)}\right) \left(e^{i\pi(\beta - \delta s)} + e^{-i\pi(\beta - \delta s)}\right) ds$$

$$= \frac{1}{2\pi i} \int_{L} \theta(s) z^{s} \Gamma(2\beta - 2\delta s) \Gamma(1 - 2\beta + 2\delta s)$$

$$\cdot \left\{e^{i\pi(\alpha + \beta - \lambda s - \delta s)} + e^{i\pi(\alpha - \beta - \lambda s + \delta s)} - e^{-i\pi(\alpha - \beta - \lambda s - \delta s)}\right\} ds$$
(11)

Now, breaking in to four parts and after some simplification, using the definition of I-function, we easily arrive at the right-hand side of (5). This completes the proof of the identity (5).  $\Box$ 

# Result 2.

$$\begin{split} \mathbf{I}_{p+2, q+2}^{m+1, n+1} \begin{bmatrix} z \middle| & (\beta, \delta, A), \ _{1}(a_{j}, e_{j}, A_{j})_{p}, (\alpha, \lambda, A) \\ & (\beta, \delta, A), \ _{1}(b_{j}, f_{j}, B_{j})_{q}, (\alpha, \lambda, A) \end{bmatrix} \\ &= \mathbf{I}_{p+4, q+4}^{m+2, n+2} \begin{bmatrix} z \middle| & (2\beta, 2\delta, A), (\frac{1}{2} + \alpha, \lambda, A), \ _{1}(a_{j}, e_{j}, A_{j})_{p}, (2\alpha, 2\lambda, A), (\frac{1}{2} + \beta, \delta, A) \\ & (2\beta, 2\delta, A), \ (\frac{1}{2} + \alpha, \lambda, A), \ _{1}(b_{j}, f_{j}, B_{j})_{q}, (2\alpha, 2\lambda, A), \ (\frac{1}{2} + \beta, \delta, A) \end{bmatrix}$$
(12)

*Proof.* In order to establish the identity (12), we proceed as follows.

Denoting the left-hand of (12) by S, expressing the I-function with the help of its definition we have,

$$S = \frac{1}{2\pi i} \int_{L} \theta(s) \ z^{s} \ \frac{\Gamma^{A}(\beta - \delta s) \ \Gamma^{A}(1 - \beta + \delta s)}{\Gamma^{A}(\alpha - \lambda s) \ \Gamma^{A}(1 - \alpha + \lambda s)} \ ds \tag{13}$$

Using the result (7) and after some algebra, we have

$$S = \frac{1}{2\pi i} \int_{L} \left\{ \theta(s) \ z^{s} \ \frac{\Gamma^{A}(1 - 2\beta + 2\delta s) \ \Gamma^{A}(2\beta - 2\delta s)}{\Gamma^{A}(\frac{1}{2} + \beta - \delta s) \ \Gamma^{A}(\frac{1}{2} - \beta + \delta s)} \right.$$
$$\times \left. \frac{\Gamma^{A}(\frac{1}{2} - \alpha + \lambda s) \ \Gamma^{A}(\frac{1}{2} + \alpha - \lambda s)}{\Gamma^{A}(2\alpha - 2\lambda s) \ \Gamma^{A}(1 - 2\alpha + 2\lambda s)} \right\} ds \tag{14}$$

After some simplification, using the definition of I-function, we easily arrive at the righthand side of (12).

This completes the proof of the identity (12).

430

### 3. Special Cases

(a) In (5), if we take  $\delta = 0$ , we get, after some simplification,

Further in (15), if we take  $A_j = 1(j = 1, ..., p)$  and  $B_j = 1(j = 1, ..., q)$ , it reduces to the H-function identity obtained by Rathie[5].

(b) In (5), if we take  $\lambda = 0$ , we get, after some simplification,

Further in (16), if we take  $A_j = 1(j = 1, ..., p)$  and  $B_j = 1(j = 1, ..., q)$ , it reduces to the H-function identity obtained recently by Rathie et al.[6].

(c) In (5), if we take  $A_j = 1(j = 1, ..., p)$  and  $B_j = 1(j = 1, ..., q)$ , it reduces to the H-function identity obtained recently by Rathie[4].

(d) In (12), if we take  $\delta = 0$  we get

$$\mathbf{I}_{p+1, q+1}^{m, n} \left[ z \left| \begin{array}{c} 1(a_{j}, e_{j}, A_{j})_{p}, (\alpha, \lambda, A) \\ 1(b_{j}, f_{j}, B_{j})_{q}, (\alpha, \lambda, A) \end{array} \right] \\
= \frac{1}{(2\pi)^{A}} \mathbf{I}_{p+2, q+2}^{m+1, n+1} \left[ z \left| \begin{array}{c} \left(\frac{1}{2} + \alpha, \lambda, A\right), 1(a_{j}, e_{j}, A_{j})_{p}, (2\alpha, 2\lambda, A) \\ \left(\frac{1}{2} + \alpha, \lambda, A\right), 1(b_{j}, f_{j}, B_{j})_{q}, (2\alpha, 2\lambda, A), \end{array} \right]$$
(17)

In (17), if we take A<sub>j</sub> = 1(j = 1,...,p), B<sub>j</sub> = 1(j = 1,...,q) and A = 1, it reduces to the H-function identity obtained by Rathie[4].
(e) In (12), if we take λ = 0, we get

$$I_{p+1, q+1}^{m, n} \left[ z \left| \begin{array}{c} (\beta, \delta, A), \ _{1}(a_{j}, e_{j}, A_{j})_{p} \\ (\beta, \delta, A), \ _{1}(b_{j}, f_{j}, B_{j})_{q} \end{array} \right] \\ = (2\pi)^{A} I_{p+2, q+2}^{m+1, n+1} \left[ z \left| \begin{array}{c} (2\beta, 2\delta, A), \ _{1}(a_{j}, e_{j}, A_{j})_{p}, \left(\frac{1}{2} + \beta, \delta, A\right) \\ (2\beta, 2\delta, A), \ _{1}(b_{j}, f_{j}, B_{j})_{q}, \left(\frac{1}{2} + \beta, \delta, A\right) \end{array} \right]$$
(18)

In (18), if we take  $A_j = 1(j = 1, ..., p)$ ,  $B_j = 1(j = 1, ..., q)$  and A = 1, it reduces to the H-function identity obtained by Rathie[4].

(f) In (12), if we take  $A_j = 1(j = 1, ..., p)$ ,  $B_j = 1(j = 1, ..., q)$  and A = 1, it reduces to the H-function identity obtained by Rathie[4].

(g) In the LHS of (12), if we put A=1 and multiply by  $2\pi i$  and equate with the LHS of (5), we get an interesting result as below.

$$(2\pi i) I_{p+4, q+4}^{m+2, n+2} \left[ z \left| \begin{array}{c} (2\beta, 2\delta, 1), \left(\frac{1}{2} + \alpha, \lambda, 1\right), {}_{1}(a_{j}, e_{j}, A_{j})_{p}, (2\alpha, 2\lambda, 1), \left(\frac{1}{2} + \beta, \delta, 1\right) \\ (2\beta, 2\delta, 1), \left(\frac{1}{2} + \alpha, \lambda, 1\right), {}_{1}(b_{j}, f_{j}, B_{j})_{q}, (2\alpha, 2\lambda, 1), \left(\frac{1}{2} + \beta, \delta, 1\right) \end{array} \right] \\ = e^{i\pi(\alpha+\beta)} I_{p+1, q+1}^{m+1, n+1} \left[ ze^{-i\pi(\lambda+\delta)} \left| \begin{array}{c} (2\beta, 2\delta, 1), {}_{1}(a_{j}, e_{j}, A_{j})_{p} \\ (2\beta, 2\delta, 1), {}_{1}(b_{j}, f_{j}, B_{j})_{q} \end{array} \right] \\ + e^{i\pi(\alpha-\beta)} I_{p+1, q+1}^{m+1, n+1} \left[ ze^{-i\pi(\lambda-\delta)} \left| \begin{array}{c} (2\beta, 2\delta, 1), {}_{1}(a_{j}, e_{j}, A_{j})_{p} \\ (2\beta, 2\delta, 1), {}_{1}(b_{j}, f_{j}, B_{j})_{q} \end{array} \right] \\ - e^{-i\pi(\alpha-\beta)} I_{p+1, q+1}^{m+1, n+1} \left[ ze^{i\pi(\lambda-\delta)} \left| \begin{array}{c} (2\beta, 2\delta, 1), {}_{1}(a_{j}, e_{j}, A_{j})_{p} \\ (2\beta, 2\delta, 1), {}_{1}(b_{j}, f_{j}, B_{j})_{q} \end{array} \right] \\ - e^{-i\pi(\alpha+\beta)} I_{p+1, q+1}^{m+1, n+1} \left[ ze^{i\pi(\lambda+\delta)} \left| \begin{array}{c} (2\beta, 2\delta, 1), {}_{1}(a_{j}, e_{j}, A_{j})_{p} \\ (2\beta, 2\delta, 1), {}_{1}(b_{j}, f_{j}, B_{j})_{q} \end{array} \right]$$
(19)

4. Another proof of (19)

Denoting the left-hand of (19) by S, expressing the I-function with the help of its definition we have,

$$S = (2\pi i)\frac{1}{2\pi i} \int_{L} \theta(s) z^{s} \frac{\Gamma(1 - 2\beta + 2\delta s) \Gamma(\frac{1}{2} - \alpha + \lambda s) \Gamma(2\beta - 2\delta s) \Gamma(\frac{1}{2} + \alpha - \lambda s)}{\Gamma(2\alpha - 2\lambda s) \Gamma(\frac{1}{2} + \beta - \delta s)\Gamma(1 - 2\alpha + 2\lambda s) \Gamma(\frac{1}{2} - \beta + \delta s)} ds$$
(20)

Using the results (7), (9), (10) and after some algebra, we have

$$S = \frac{1}{2\pi i} \int_{L} \theta(s) z^{s} \Gamma(2\beta - 2\delta s) \Gamma(1 - 2\beta + 2\delta s)$$
$$\cdot \left(e^{i\pi(\alpha - \lambda s)} - e^{-i\pi(\alpha - \lambda s)}\right) \left(e^{i\pi(\beta - \delta s)} + e^{-i\pi(\beta - \delta s)}\right) ds$$
$$= \frac{1}{2\pi i} \int_{L} \left\{\theta(s) z^{s} \Gamma(2\beta - 2\delta s) \Gamma(1 - 2\beta + 2\delta s)\right\}$$
$$\cdot \left\{e^{i\pi(\alpha + \beta - \lambda s - \delta s)} + e^{i\pi(\alpha - \beta - \lambda s + \delta s)}\right\}$$
$$- e^{-i\pi(\alpha - \beta - \lambda s + \delta s)} - e^{-i\pi(\alpha + \beta - \lambda s - \delta s)}\right\} ds$$
(21)

Now, breaking in to four parts and after some simplification, using the definition of I-function, we easily arrive at the right-hand side of (19).

Since I-function is the most generalized function among the functions of one variable studied so far, so by specializing the parameters therein it reduces to H-function, Gfunction, Generalized Hypergeometric function  ${}_{p}F_{q}$  and other elementary functions and hence we can obtain corresponding results. However we do not mention here due to lack of space.

#### References

- Braaksma, B. L. J, (1964), Asymptotic expansions and analytic continuations for a class of Barnes integrals, Compositio Math. 15, pp. 239-341,
- [2] Fox, Charles, (1961), The G and H -functions as symmetrical Fourier kernels, Trans. Amer. Math. Soc. 98, pp. 395 - 429.
- [3] Rathie, Arjun K., (1997), A new generalization of generalized hypergeometric functions, Le Matematiche Vol. LII. Fasc. II, pp. 297 - 310.

432

- [4] Rathie, Arjun K., (2017), On an identity for H-function, arXiv:1703.06747v1 [math.CA],
- [5] Rathie, A. K., (1981), Identities for H-function, Vijnana Parishad Anusandhan Patrika, 24, pp. 77-79.
- [6] Rathie, A. K., Luan L. C. S. M. and Rathie, P. N. (2017), On a new identity for the H-function with applications to the summation of hypergeometric series, Turk J Math, 42, pp.924-935, doi:10.3906/mat-1705-48.



Mrs. Vilma D'Souza received her B.Sc. and M.Sc. degrees from Mangalore University, India. She is presently working as an Assistant Professor in Mathematics at Yenepoya Institute of Technology, Moodbidri, INDIA. Her area of interest includes hypergeometric functions and I-function.



**Dr. Shantha Kumari. K.** obtained her PhD in the area of Mathematics from Sri Chandarasekharendra Saraswathi Viswa Maha Vidyalaya, Kanchipuram. She had her MSc. in Mathematics and BSc. from Mangalore University. She has more than 15 publications in the reputed journals and conferences in her credit. She is also a life member of ISTE, IMS, AMTI, RGP, VPI and SSFA. Presently she is working as a professor and Head of the Department of Mathematics, A. J. Institute of Engineering and Technology, Mangalore. Her research interests are in the areas of special functions and their applications.